1. Ubiquitin tags mark _________ for destruction.
This is an example of which level of regulation?
translational         transcriptional    post transcriptional        post translational    
                     DNA packing                  nuclear transport          
2. The process of making a protein from an m-RNA message is called ___________________.

3. Name the type of RNA that has an ANTICODON sequence and carries an amino acid.
Which enzyme adds these amino acids?
4. What is the function of the telomeres on a chromosome?

5. Give an example of post-transcriptional modification to mRNA in eukaryotes.

6. Okazaki fragments form when the ___________ strand in copied. Which enzyme joins these fragments?

7. Tell how a polysome is different than a nucleosome.
8. How is a MISSENSE mutation different than a NONSENSE mutation?
9. tRNA’s carrying their amino acids enter the ribosome at which of the following positions? 


         A site     P site        E site 
10. INDUCIBLE operons are most often associated with genes that code for enzymes that function in _______________________ pathways
   ANABOLIC       CATABOLIC
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11. Meselson and Stahl’s experiment with radioactively labeled nucleotides provided evidence that DNA replicates using which method?
   Conservative

    Dispersive
    
    Semi-conservative


12. Draw a picture showing the position of molecules when the lac operon is TURNED OFF.  


13. Name the enzyme that adds DNA nucleotide subunits to an RNA primer during replication.

14. Where would you find “snurps” in a cell and tell what they do?

15. The ___________ strand is synthesized continuously during replication.

16. siRNA’s are “death tags” that mark 
_____________ that should be destroyed.
17. Name the sequence that is NOT involved in coding for a protein which is cut out of the 
pre m-RNA molecule before it is read by the ribosomes.
18. Tell one way transcription in prokaryotes is different from that in eukaryotes.
19. Name the modification added to the 3’ end of an m-RNA which may promote export from nucleus and protect it from degradation.

20. DNA polymerase III works by joining a new nucleotide to the _____ end of an existing nucleotide chain.
               3’      or      5’
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 Name this subunit used to build
nucleic acids like DNA & RNA
22. If this were used to build DNA which sugar would be used? 

23. Region on an operon where RNA polymerase attaches and begins transcription.

24. Muscle cells differ from nerve cells because
      A. the express different genes
      B. they contain different genes
      C. they each have unique ribosomes
      D. they have different “snurps” that edit the same genes in 
              different ways
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25. Use the codon chart to translate this message.

A G A G U G U A G

26. Give an example of POST-TRANSLATIONAL gene regulation.



27.  When an INDUCIBLE prokaryotic operon is TURNED ON the repressor would be in the ____________ form

inactive   active

28. All cells have cell parts that use subunits similar to this to make a polypeptide chain. Name the subunit and the cell part
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29. 
Both of these mutations put an Adenine (A) where it doesn’t belong in the code. 
Mutation #1 is an example of which type of mutation you learned about? _________________

Mutation #2 is an example of which type of mutation you learned about? _________________


Which of these would result in more disruption in the amino acid sequence of the protein this gene codes for? Explain why.



30. If a mutation caused a change in the code so the mRNA read UGG instead of UGC, how would this affect the protein produced? 

31. What constraints limit how DNA polymerase
can function during replication?

32. Give a function for topoisomerase during replication.

33. Explain how TATA boxes can help RNA polymerase get into position to start transcription.
34. In Griffith’s mouse-pneumonia experiment,
non-lethal bacteria were “TRANSFORMED” by
incorporating ________ picked up from heat-killed lethal bacteria.


35. The addition of methyl groups to __________ in DNA turns genes _________

                               ON     OFF
36. Genes are regulated when REPRESSORS bind to the _____________ region to turn genes _______ and 
ACTIVATORS bind to the _______________ regions to turn genes _________.
37. Tell 2 ways transcription and translation are different in prokaryotes compared to eukaryotes.

38. During replication the lagging strand is synthesized 
________________ the replication fork and the
toward      away from
leading strand is synthesized  _____________ the
replication fork.                    toward      away from

39. Repressor proteins for repressible operons 
are produced in the ________________ form.
                        active    inactive
40. In eukaryotes, what causes folding of DNA to move enhancer regions near the promoter region to initiate transcription?
